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SECTION - A

N.B.: 1 Allquestions are compuilsory. 6\

) Each question carries one Q

i) Choose the most 36 from the given four
alternatives, 40 x 1 =40

1. medmdmmﬂ$gma
w A \'0 b 2

c 3 6 d) 6.
2. The tegral (P ) of (3D2+ D-14) y = 13e2* 15
a)
b) “913xe 2*
o) xp ir
a X2 o

| Turn over


www.studyguideindia.com

bl gq-p
o (p—=q)Vig-p)
d (p-q)lA (g-p). O®
mmmnm[z,_ﬁl; - ,()
.

1 S
i oo O
¢ 3 ’\GQ
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7. The stationary polnt of f(x)= x%%(4-x) occursat x=

9 3 b 5
e 0 d 4.
x4 y? ', du
8. Ifuulug( — J.thmxax-i-yay!s @
a- 0 b) u O
¢ 2u ' s d u-l. ""
*
9. Thecum:a“y’:x’[EIan], a>0 ulyumt@ t
al  x-axis only \Q

b} y-axis only

. S
e P

d hothuunndnhuutlhe@
10. »

O

11 J+1(n+4)is the complex conjugate of (2m + 3) + {(3n -2 ), then
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12. The polar form of the complex number ( (%8 ) 1s
a) cou%-tlsin%
b) cosm+isinnx
cj cosm~-isinm @
d) m%- tuin%. : O
O
13. The equation having 4 - 31 mﬂ-&+3lumhm6®"

al x?+Bx+25=0 \Q
b) x24+8x-25=0 . 6®

¢ x3-8x+25=0 C?Q
d) xﬂ-ﬂx—-ﬂa=ﬂ.&
14. Thcvlluenf%&ﬂ
X |
a) bl 2sin®
{5in 8 d 2isin8.
15. The length of the latus rectum of the parabola y?-4x+4y+8=01a
a 8 _ bl 6

c 4 d 2.
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16. IfA=[ }thm AlA=
ls 4 (adfA)
- i
L] 0 =
] 1 ©
a) 1 y b)
_ﬂ 5. B o I |
(6 0] B
c) d)
Lo -5 Lo sl O
17. If Aand B are any two matrices such that AB=0 and A lar, then

4 <

bl Bis singular \Q
¢}  Bis non-singular @
O

d B=A 0
18. The system of equations ax Ql-ﬂ. x+by+2z=0 x+y+cz=0hasa

non-trivial solution. Then

1-b* 11—
) 1 6’\9 b) 2
ca =1 3 d 0.
19. If p( A.B}.T-h;nlhtmlmh
and has infinitely many solutions

bl  consistent and has a unique solution

¢) consistent

d) inconsistent. | ‘
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20.

21.

23.

4,

I’ T:"m;nm=zmvu-tnrmdmham—mmhr.thmmzhaunuvmu
- k
a) m = =21 .
bl a=|m| .
1
Rl ) :®

d a=1 ()

*

Let p be ‘Kamala 1s golng to school' and g be ‘there age® fn the
dm'.'ﬂamlaumtmtnmhuulwmmm dents in the class’
stands for
a4 pVag
o ~p ~pVa

Al x] =% lﬁ+x apd,fufamnﬂnununmndumvaﬂable
X, then the value of A Is tﬁ
a) 16 b} 8

g\

ton f P( X =0) = k, then the variance is

b) log k
a4 i

In a binomial distribution f n=5, P(X=8)=2P(X=2), then
a p=2q b 2p=gq

) =g d) BP'QQ'
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25,

26.

27,
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If fix)isapdf ofanormal distribution with megn p then _[ Flx)dx is

b
a 1 bl 05
c 0 d  0-25.

2 2
The area between the cllipse i"{ + g—-j =1 a:mdlhnuﬂﬂaryﬁrcleia@

. o

. 6\(0

¢l mala=b) \Q
d 2=xbl{a-b). @

4
2

2
The voluome of the solid that results mglnnmcluaedhyi-g+i;,— = |

b
wmﬂ?cdahnulmﬂmNBrm@b}ﬂlh

al g- nab? éﬁ
"b) % ra?b \0

. D
c) 3 nab .

28.

[(®]

surface area of the solid of revolution of the region bounded by u = 2x.
x=0 and x= 2 about x-axis is

a B8Y6r bl 2V5=x

o V6= d 45
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30,

31.

32,

inﬂndm,gthedlﬂ'mnualaquauunm:ruponmngto y=e™ w

;rbﬂr:nmﬂant.ﬂmnmla g)
o &
) y Q

a . Q\

- S

c)

The

b

ol

'Ih:emmtd::ltyufthemgﬁ@ 1-54x-40y + 116=01s
a) b)

alne

)
9\ a 2

of the vertices of the rectangular hyperbola xy = 16 are

Ol L3

4- 4]: ‘-41 "4]

(2, 8): (-2, -8)

(8. 0); (-8 0)
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33, The difference between the focal distances of any point on the hyperbola

;5_;4- !bLi. = 1 i 24 and the eccentricity Is 2. Then the equation of the
hyperbola is

Al iﬁl'fej—:z"

d 5;-?;?%=1 ()O

i -
x h
d = = I,
) G2vE T 12 6\
34. The slope of the tangent to the curve yuﬁxi+®aﬁ x=01s

1 R
¢ 1 O d =1.

95, If S=t =412+ 7. thevB when the acceleration is zero, 1s

[B] [ Tumn over
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87. | @+ B |=]| 2~ | then
a) .&*Hpuﬂleltni' x
b) _&'mpﬂ'pmdlmmrtn?

o |a|=|D| ®
d 2andb 0

a and b are unit vectors,

38. Mnmpammemcvuturequaumdupmm three points,
whose position vectors are a, h T E\
-4 -

g [P 33 23 =0 \Q

b) [?:'E:::D @
*

o [Z% 2050 O\E

a [332]-o 0

39. 'I‘hashmtdm; t(2, 10, 1) from the plane

?.[37-“]% 276 1
a 2V \

bl 26
e} d) -J%_IB

40. point of tntersection of the lne ¢ = (?—?]?l[&?q-i?*'l_k*]
and the plane 7 . [7+7-_k') =81s
a (8.6 22) bl (-8-6-22)

o (4.3.11) d (-4,-3,-11)
(8]
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SECTION - B
N.B: 4 Answer any fen guestions.

) Question No. 88 Is compulsory and choose any nine
questions from the remalning.

i) EBach guestion carries six marks. 10 % 6 = 60

AladfA)=ladjA)A=|A|.1

. Q-
L \
28 Qé

1
41. Find the adjoint of the matrix Aﬂ{& }andvmfjrihemﬂl

42 Find the rank of the matrix 1 -2 1
1 5 -7

43. a) Shnwmumnmﬂ:-]’+k\ 7 -6K and-31 +4] +4K

Iurmﬂmﬂdﬂnfaﬂﬁltang s
bl A force givenby 31 is applied at the point ( 1, = 1, 2 ). Find

the moment of the tthe point (2,-1, 3).

line ?-(2‘?+j-3_ki] +t(2T-]’-'£]

y+3z+7=0,

+ {sina and y=cosf + (sin . prove that

7 = 2co8(ma+np)

46. Find the square rootof (=7 + 241).

47. Find the equation of the hyperbala \f centre 1s ( 0, 0 ), length of semi-transverse
axis is 6, & = 3 and the transverse axis is parallel to y-axs.
B | Turn over
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48. Evaluste jim [Wk:cx—!].
-0 X

49, Ifu=hgttnnx+t&ny+tanzl. prove that 2 ﬂn?x% = 2,

_Vxdx
50. Evaluate j ﬁ+{muamgmvpuuﬁafmt¢gaum. @
0

51. Solve: xdy = {y+4xﬁe"4]dx.

52. Gisagroup. a be G. Prwethut (asb)-l=pb- E\%’

53. Show that pe g s((-p l"d"i‘] A “"Ql‘h“p

54. Find ¢, pand o of the normal dis ;@’whm probability distribution

function s given by f{x) = lm*z'a

55. &) Verfy W;hworu@:uuhnmm

fix) = xﬂvmi@.al.
6\0 "

I‘nﬂumvmiahlaxtmathefuﬂawmgpmhnhﬂuyduﬁbuum:

0 1 2 3 4 5 6 7 8

(x) @ | 3a | 5a | 7a | 9a | 11a| 18a | 15a | 174

1 Find the value of a
H FindP(X<3)

i) Find P(3<x<T7)

3
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SECTION - C
N.B.: { Answerany ten questions.

1) Question No. 70 lu'mmpu]um]r and choose any nine
guestions from the remaining.

iff Each question carries ten marks. 10 x 10 = 100

Dmm_mm&hmﬂmhﬂmﬂloo

@ S
E
x+y+z=2 AIx+y-22=123, Ax+y+4z=1 6\

Find the vector and Cartesian equations of the through the points

(-1,1,1)and (1), -1, 1)and the plane x+ 2y + 2z = 5.

A Euﬂﬁm%md%o@ﬂm+[pl+q2] 0 and

q amn
tan 0 = y+p' Mw'q = fg -

. Find the axis, quamﬁmmmummmhngthufm

latus the following parabola and hence skeich the graph.
fix-6u+ 1=0

mmmahﬂm;mﬁmummem&am-empum 18 ft high
ntlh:cmﬁu.ﬂndththﬂghiaﬂhewﬂlng#ﬂ&nmdﬂmwaﬂifﬂmhﬂgmd

the side walls is 12 ft.
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fl.

62.

63.

B4.

65.

B7.

65,

. Find the

Find the equation of the rectangular hyperbola which has for one of iis
aljmlpt-ulmlht]ine.r+2y—ﬁ=ﬂnudpnmlhl‘nu‘hth¢pﬂnuiﬁ*bj and

(-3,0).

Find the angle between the curves y=x?andy=(x-2)2 at m@ﬂf

W= 1222 - 2x7 - 24, . Q
Q>

Using Euler's theorem, prove that ’\6

)
xa*—: "'y% --%lﬂnulfun A =

D>

Find the common by the parabolas y? = x and x2 =y,

%zm x=a(t-sint), y=a(l-coat) betweent=0

L 2

:[l-x’]%xu+lxy-:m.

Show that the set {[ 1), (3], (4] [5]),19]) forms an Abellan group under

multiplication modulo 11.
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.
69. An urn contains 4 white and 3 red balls. Find the proba bution of the

number of red balls in three draws one by one e umm (1) with

replacement, (4) without replacement.

70. &l Solve:(D?-1)y = cos2x- zn@

b o a=21+3] - *&hﬂw‘ﬁ. ?-7-3?,@@1‘.
“[z;j’& [*"')* (z.3)%
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